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Evaluate Uz\zdz , Where C is the straight line segment from -2 to 1 in the

complex plane. [90 5 # 7 # ]
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(1) Integrating along a straight line segment.

(2) Integrating along the left half of the unit circle. [90 = ~ T #~ £ 7 ]
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Evaluate the integral j c zm(f)ndz where m and n are integers and C is

the unit circle, Z‘ =1, taken counterclockwise. [91 = = & =]
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Evaluate the following integral jllz—ﬂdz :
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(1) If the path 1s the upper half of the circle r = 1.
(2) If the path 1s the lower half of the circle r = 1.
(3) Explain the solutions you have obtained in (1) and (2). [89 = * &
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Given the integreal | = jc—l on the complex plane. With the contour
Z —

C defined as in the following figure.
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(1) Compute the integrations of the four segments of the contour C
separately. Add the four results together to get I.

(2) Use the Residue Theorem to compute the integration I. Check the
result with that obtains in (1).
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